GARMIRE IRON WORKS, INC
5620 48TH DRIVE N.E.
MARYSVILLE, WA 98270-56720

30, 35, AND 40 FEET HINGED BEACON POLE DESIGN

CTS JOB NO. WA04.002.S08

o &%"g}: acﬁéﬁ’{]}

o
D.

epoolesnnnd

% Paul Prochaska 4
)%, No. CE 4525 .-‘Z-é“?ﬁ'
a%ﬂ"-nnw'“fw
W Argresoeiihs®
U ™ August, 2005

Prepared by
CTS ENGINEERS, INC.

1412 112th Avenue NE
Bellevue, WA 98004



Garmire IronWorks, Inc.

5620-48th Drive N.E. « Marysville, WA 98270
(360) 651-1001 = Fax (360) 651-1002 » garmireironworks@frontier.com

GS0630' HINGED BEACON POLE DETAIL

(N.T.S.)

1/4"x 20" x 20" BEACON PLATFRORM —»
i 3“-—T—Em"x 1-1/2" STIFFENER
\ [ &:1/ "x 4" STIFFENER
a7 3"x 5" REINFORCED HAND HOLE W/COVER
L_EYE BOLTS (3) @90°

4——— 6" SQUARE STEEL TUBE
ASTM A-500 Gr B
1/4" WALL
FINISH: HOT DIP GALVANIZED
(4) ORANGE STRIPES
(3) WHITE STRIPES

[ ! HINGE LINE @ 17-0"

1-1/4"DIA SS HINGE BOLT

¢ 1 /4" thick COUNTER BALANCE

ASTM A-36
t%«_— —————1"DIA THREADED LOCKING DEVICE
I HAND POWERED WINCH
! W/REMOVABLE CRANK AND
AUTOMATIC BRAKE
[-H L—3"x 5" REINFORCED HAND HOLE W/COVER

. Eji———— 1"ASTM A-36 BASE PLATE

12"x 12" SQUARE
W/ 12-3/4" BOLT CIRCLE

4_____1_(4) -1" x 36" HDG ANCHOR BOLTS
ASTM A-307

WESTCOAST SALES & MARKETING

Q& 1/2"NC Barrel Nut for Lighting Rod

Attachment- Lighting Rod By Others
(4) 1/2" Holes on a 4"o.c. x 16"0.c. Spacing
(1) 1" Diameter Center Hole

3/4"NPT Half Coupling in Opposite
Corners



AL

Garmire IronWorks, Inc.
5620-48th Drive N.E. » Marysville, WA 98270
(360) 651-1001 = Fax (360) 651-1002 » garmireironworks@frontier.com

GSQ635" HINGED BEACON POLE DETAIL

(N.T.S.)

WESTCOAST SALES & MARKETING

Q& 1/2"NC Barrel Nut for Lighting Rod
1/4"x 20" x 20" BEACON PLATFRORM ——p- o Attachment- Lighting Rod By Others
: i‘4"‘__,1:-1/4"x 1-1/2" STIFFENER

N

E]‘&l/ "x 4" STIFFENER P

3"x 5" REINFORCED HAND HOLE W/COVER| o °
LEYE BOLTS (3) @90°

4———— 6" SQUARE STEEL TUBE
ASTM A-500 Gr C
1/4" WALL
FINISH: HOT DIP GALVANIZED
(4) ORANGE STRIPES

(3) WHITE STRIPES

fie |__HINGE LINE @ 19-6"
1-1/4"DIA SS HINGE BOLT

¢————————1/4"thick COUNTER BALANCE
ASTM A-36

i % ———————1"DIA THREADED LOCKING DEVICE

HAND POWERED WINCH
W/REMOVABLE CRANK AND
AUTOMATIC BRAKE

L—3"x 5" REINFORCED HAND HOLE W/COVER

H ‘E}———l"ASTM A-36 BASE PLATE

12"x 12" SQUARE
W/ 12-3/4" BOLT CIRCLE

[&—(4)-1" x 36" HDG ANCHOR BOLTS
ASTM A-307

(4) 1/2" Holes on a 4"0.c. x 16"o.c. Spacing
(1) 1" Diameter Center Hole

3/4"NPT Half Coupling in Opposite
Corners




AL

Garmire IronWorks, Inc.
5620-48th Drive N.E. « Marysville, WA 98270
(360) 651-1001 - Fax (360) 651-1002 » garmireironworks@frontier.com

GSQ640' HINGED BEACON POLE DETAIL
(NT.S)

— 1/4"x 20" x 20" BEACON PLATFRORM—

N 1/4"x 1-1/2" STIFFENER
\ EL@: 1/4"x 4" STIFFENER

6" SQUARE STEEL TUBE
ASTM A-500 Gr C
1/4" WALL

(3) WHITE STRIPES

e | HINGE LINE @ 22
1-1/4"DIA SS HINGE BOLT

——— 1/4"thick COUNTER BALANCE

E}’— 1"ASTM A-36 BASE PLATE

12"x 12" SQUARE
W/ 12-3/4" BOLT CIRCLE

ASTM A-307

WESTCOAST SALES & MARKETING

@ 4 3"x 5" REINFORCED HAND HOLE W/COVER
L EvEBOLTS 3 @9’

FINISH: HOT DIP GALVANIZED
(4) ORANGE STRIPES

ASTM A-36
I %—— 1"DIA THREADED LOCKING DEVICE
[ HANDPOWERED WINCH
Y] W/REMOVABLE CRANK AND
AUTOMATIC BRAKE
[-) L— 3'x 5" REINFORCED HAND HOLE W/COVER

[ (4)-1" x 36" HDG ANCHOR BOLTS

Q&————— 1/2"NC Barrel Nut for Lighting Rod

Attachment- Lighting Rod By Others
(4) 1/2" Holes on a 4"o.c. x 16"0.c. Spacing
(1) 1" Diameter Center Hole

3/4"NPT Half Coupling in Opposite
Corners




CTS)

Engineers

Tel: (425) 455-7822
Pacific Park 2

1412 - 112th Ave. NE
Suite 102

Bellevue, WA 98004-3760

PROJECT No. W AOT, 007, Hot

PROJECT NAME _T2CATWIN TOLE
PAGE NO. (s

= OF /
MADE BY M DATE 97/ 27l

CHECKED BY DATE

| | i

0 FEET HincED BEACO
P T L

oLe Desier

NP

4G

| LoaDT

Cal| # Fop

XNecA =< o Q¢

ot YeeTlorl = (22 \(=13] =527

L

l<z+ = [L \/j) “{ﬁc =, @5 v(ﬁfl‘DLc 6 ,#/




Tel: (425) 455-7822 | PROJECT NO.

WhkoS, 0020 %

Pacific Park 2

CTS)

PROJECT NAME %@éAﬁd‘\ PoLe

1412 - 112th Ave. NE | PAGE NO.

Suite 102 | MADE BY ™M

OF /
DATE O7/E7/0%

CHECKED BY DATE

Engineers Bellevue, WA 98004-3760

% "TEE(, P@us D € %1644

W (\»\ fer

| Qe | |

N

=) =

I

1)
Y
N
w
P
4

M

)

TLALE =

|

6,712 + 2%,(24@.—

\
]

1

— Pipt ok

| H&E
| fa T oo

\
1‘1’7 | | ‘ |
AT ] | |

]

0

N :

|

DC’T/C @MMA’TI‘OH\ = &wa/\é e ST

rzéf"‘:%fs&

"
L]
[

i § 1 | L
‘ wf@ Aqgeno (ST gwxxm:: Socmiz

CATT

L\;}. I

H ‘
w

§Por2
i ‘ | L [
1 ‘ | i

Q“O uc.’wefh, ’:?u’P‘Porz T& wrp_ l&fj}) wAy ‘%«%‘3

(4] Hm(?/:/l A TI?AWC %15(%4.% BEC,T@H 5

”’*Ot?. ‘HS’% ia"fG 5“

b6 (%x 5% m/ Lo L

?=6-~’56 1‘64#& T
\;‘\“‘




b -

Tel: (425) 455-7822 | PROJECT No. __ W A5 200 %
T S Pacific Park 2 | PROJECT NAME %@%‘WH 2o

"

1412 - 112th Ave. NE PAGE NO. — OF
Suite 102 | MADE BY M7 DATE © 7/29/°T,
Engmeers Bellevue, WA 98004-3760 | CHECKED BY DATE

EERFUNNEERES

T e ! - : - << | %?’

L= e & Q&/’ / \ 7
[ s i
: H \

| % | //zﬂng/o/ L
| KL /T 2 2oy 12 /226 =07 7 Ca=| =
] T |

SRENENTY c-Y VI : ' E
| Fas— o -0l (Eas)
| Cod inen NTRESMES |
l — o170 CImy //@J P
1T ok + = = (Q o0+ D= [14C’ = | ﬁ N &
oY ==Y | | T
B | — ] | |
Tey R G164 4! | .
| | | |
A ‘ ll/"E ﬂ‘ PN YA V) |
| | e | (& f [Fast
‘A= - /'_, i = Q,Qli&%’l /f%—:: z é?/);;‘?y == ;44: O&?((‘Q’zﬁ‘
i \":; | IS K=o | Q ! (V\’; 5
| ! LA ! | | |
T Beer e (B2 clgo7R s am 2o
i : i ] i ]
| bHt=5 2;/@5:@1 < ['”év/‘—_d,é | 7Q8 - |
- —n BN T O O
CopPACT QS‘C(/L\GH ) w,; ?o.i@@x%;w@oﬁm‘(wau;sg

| | |
P2 >‘e4o,z \2/£ %34/2

: !/1) 7‘{2,4 ?//7)«’(/"53
to= 1T 0002 @%D‘%ﬂ | )
== 1
| : ‘ ; ‘

Q
Y]
D
[
Q
R\
.1.
P
A
'
N




CTS)

Engineers

Tel: (425) 455-7822
Pacific Park 2

1412 - 112th Ave. NE
Suite 102

Bellevue, WA 98004-3760

W ArS. 006 30 5

PROJECT NO.

PROJECT NAME L FoLe

PAGE NO. OF /
MADE BY A7 pate O /[27/05
CHECKED BY DATE

U%\, KX orCr A ’-F% 4@@1

%A%E @Lm@ wccnc 2= Aﬂc Mm\ AL

BN |/ | ; § . | |
Tor Ml = 2000 kR0 | mc—u,%;s,z D=llo= e
‘B | | | —T
T — 1 ? ‘ | |
Ao 242 q poate W A B AT 151N PrOM
A T T B T B B B T
I - i peteiz 05
PUALL BREE! o = ——— 5 = 66,50 %
| I I i ! = | | ] i \
/*L e | lrecel123? (152 6 eq45) 25007
N T 24 e A s AR A B =4 N A A i >
A= — T PSP . — ; =
R N T | |
T — ! T o B
L .| - |
=2 FMN o
I \l ! ! .‘ o0 = ¥ :
Mo =(loo =240 [ B~ 25— | = % 77@{%\\/“\\;
L= s lle T Je=277/16=(667 FSHi<
T ] N R T
R L L | L
Tz 1224 75226 = 25l Q0.
- ‘ - ; L |
| | | | ]
| | N | ;
T YT T |
T e HEA 6»1&1/4 g( 4@;@1
!{7 R : | 1 | S _—
] | ! o i B } ! |
NN (i —7&4%@1’&1?” Lov |
SRER R / ??z-zf £
| | . ]
C LA




